K=1; A=1 K=1; A=2
Labor No. TP(1)  TP(2) | TP(3) | TP(class) AP(class) MP(class)|Labor No. TP(1) TP(2)  TP(3) TP(class) AP(class) MP(class)
0 0 0 0 0 0 0 0 0 0 0 0 0 0
1 2 1 2 2.00 2 1 3 1 2 2.00 2
2 2 1 2 1.00 0 2 2 4 3 1.50 1
3 4 6 5 1.67 3 3 4 6 5 1.67 2
4 7 6 7 1.75 2 4 7 4 6 1.50 1
5 9 10 10 2.00 3 5 8 11 10 2.00 4
6 10 9 10 1.67 0 6 12 15 14 2.33 4
7 11 8 10 1.43 0 7 6 13 10 1.43 -4
8 13 7 10 1.25 0 8 9 15 12 1.50 2
9 14 11 13 1.44 3 9 8 11 10 1.1 -2
10 17 14 16 1.60 3 10 7 15 1 1.10 1
11 18 12 15 1.36 -1 11 8 18 13 1.18 2
12 17 14 16 1.33 1 12 11 21 16 1.33 3
13 19 14 17 1.31 1 13 8 20 14 1.08 -2
14 20 16 18 1.29 1 14 5 17 1 0.79 -3
15 17 18 18 1.20 0 15 13 22 18 1.20 7
16 27 21 24 1.50 6 16 14 17 16 1.00 -2
17 23 19 21 1.24 -3 17 16 22 19 1.12 3
230 187 0 141 232 0

After 3 Rounds, total no. of Moebius Strip produced:

Group 1
Group 2
Group 3

371
419
0
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